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HW - AC Il Theory 10/19/18 Rasmussen Name

1. Solve for total current in the following circuits and for the voltages across each inductor:

Vsource=30 V /\D

@100Hz

Vsource=120 V
@60Hz

3 L1=1.3H

L1=.3H
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3 L1=.55H

Vsource=100 V
@50Hz

Vsource=20 V
@160Hz
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L1=1H

2. Solve for total current in the following circuits and for the voltages across each inductor and resistor :

L1=.1H

RL=50Q

Vsource=24 V
@120Hz @
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R1=2SOQ§

Vsource=100 V
@80Hz

L1=500mH  R1=250Q
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Vsource=120 V )
@60Hz QY

L1=100mH
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R1=2000
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R3=100Q
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